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And provided that he left over the essential part

Overview

After X217 asked numerous questions on 7111 27, the X132 continues that 272X 777 27
R stated that the 03 is valid if he left over the 51077 2P, Our MdOIN clarifies
what PX1mw R °"1 is referring to.
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PX1MW MR °"7 is coming to answer this which was previously asked, ‘but they

are not intelligent’, so how can a 1"wn write a 7w v3. The answer is that they only wrote
the 090 (which does not require 72w?) and the 77N was written by a ‘normal’ person.

Summary
PRIAW MR °"1 is answering the original question of 171°3 YT %12 XY K.

Thinking it over
What else could have 2Xnw 7K °"q meant that Mo0IN needs to explain to us that it

does not mean this other possibility, but rather 191 2°¥% *WpKRT *Xnx?>

" The qn7 0Wpn is the essential part of the v which contains the names of the husband and wife and the statement of
'D7R 237 NN nX 7' (as opposed to the VT 09 which is the standardized text of the v3).
2 See TN *wADn XN # 75.
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